

CHANGE ORDER

CHANGE ORDER
NUMBER
3
4/18/2022
Page 1 of 10

 ☑ORDERED BY ENGINEER UNDER SECTION 1-04.4 OF THE STANDARD SPECIFICATIONS. ☐ CHANGE PROPOSED BY CONTRACTOR. 	PROJECT IDENTIFICATION PROJECT NAME: North Creek Trail Phase 1 – SR524 to Sprague Drive PROJECT NUMBER: RC1776, RR6318, RR6323, RR6319, RC1798		
CONTRACTOR ENDORSEMENT:	CONTRACTOR: Rodarte Construction, Inc.		
SIGNATURE DATE	ADDRESS: 17 East Valley Hwy E Auburn, WA. 98092		
PRINT NAME TITLE			

Description

This Change Order compensates the Contractor for added work required to grind and pave a full-width HMA overlay on Filbert Drive and Winesap Road adjacent to the North Creek Trail Phase 1 Project.

The Contractor shall plane the existing asphalt roadway full width to an average depth of 0.17′ (2″) as shown in the attached plans and overlay with an average depth of 0.17′ (2″) of ½″ HMA PG58H-22. This added work includes planing, pavement repair and surface preparation, asphalt paving, temporary striping, utility adjustments, traffic control labor, shoulder rock, and an equitable adjustment for subcontractor mobilization.

In consideration of the Standard Specifications Section 1-04.4, make the following revisions to the contract:

Group 1, RC1776

• Decrease Bid Item #67, "HMA Cl. ½" PG 58H-22" in the amount of 470 TON.

Group 3, RR6318 (AWWD)

- Increase Bid Item #23, "Adjust AWWD Manhole" in the amount of 21 EA.
- Decrease Bid Item #34, "Adjust Valve Box to Finish Grade" in the amount of 4 EA.
- Add to group Bid Item #65, "Crushed Surfacing Top Course" in the amount of 20 TON.
- Add to group Bid Item #143, "Temporary Pavement Marking Short Duration" in the amount of 1,730 LF.
- Increase Bid Item #147, "Flaggers" in the amount of 105 HR.
- Add new Bid Item #216, "HMA CL. ½ IN. PG 58H-22 Full Overlay" in the amount of 406 TON.

ORIGINAL CONTRACT AMOUNT	CURRENT COI AMOUN		ESTIMATED NET CHANGE THIS ORDER	ESTIMATED CON TOTAL AFTER CI			
\$8,137,776.14	\$8,279,04	7.18	\$496,326.92	\$8,775,374.10			
APPROVAL RECOMMENDED			APPROVAL RECOMMENDED				
CONSTRUCTION MAN	CONSTRUCTION MANAGER DATE			ALDERWOOD WATER & WASTEWATER DISTRICT DATE			
APPROVAL RECOMMENDED			APPROVED				
ENGINEERING SERVICES DIRECTOR DATE			SNOHOMISH COUNTY COUNCIL MOTION #:				
APPROVAL RECOMMENDED							
PUBLIC WORKS DIRECTOR OR CO	DUNTY ENGINEER	DATE	SNOHOMISH COUNTY I	EXECUTIVE	DATE		



CHANGE ORDER

CHANGE ORDER
NUMBER
3
4/18/2022
Page 2 of 10

- Add new Bid Item #218, "Planing Bituminous Pavement" in the amount of 2,978 SY.
- Add new Bid Item #220, "Adjust Valve Box to Finish Grade Overlay" in the amount of 49 EA.

Add new Group 6, RC1798 (County Overlay)

- Add to group Bid Item #9, "Roadway Excavation Incl. Haul" in the amount of 384 CY.
- Add to group Bid Item #64, "Crushed Surfacing Base Course" in the amount of 474 TON.
- Add to group Bid Item #65, "Crushed Surfacing Top Course" in the amount of 124 TON.
- Add to group Bid Item #143, "Temporary Pavement Marking Short Duration" in the amount of 7930 LF.
- Add to group Bid Item #147, "Flaggers" in the amount of 407 HR.
- Add to group Bid Item #165, "Adjust Catch Basin" in the amount of 3.00 EA.
- Add New Bid Item #216, "HMA CI. ½" PG 58H-22 Full Overlay" in the amount of 1564 TON.
- Add New Bid Item #217, "HMA Cl. ½" PG 58H-22 for Excavations" in the amount of 172 TON. This item is for the leveling course of HMA in the areas where Roadway Excavation is directed by the Engineer.
- Add New Bid Item #218, "Planing Bituminous Pavement" in the amount of 11,892 SY.
- Add New Bid Item #219, "Mobilization Full Overlay" in the amount of 1.00 Lump Sum.

Hot Mix Asphalt and Planing Bituminous Pavement shall meet the requirements of Section 5-04.

Measurement and Payment

- Bid Item 9, "Roadway Excavation Incl. Haul" shall be paid at the existing Contract unit price of \$40.00 per CY.
- Bid Item 23, "Adjust AWWD Manhole" shall be paid at the existing Contract unit price in the amount of \$750.00 per EA.
- Item #34, "Adjust Valve Box to Finish Grade" shall be paid at the existing Contract unit price in the amount of \$225.00 per EA.
- Bid Item 64, "Crushed Surfacing Base Course" shall be paid at the existing Contract unit price of \$32.00 per TON.
- Bid Item 65, "Crushed Surfacing Top Course" shall be paid at the existing Contract unit price of \$40.00 per TON.
- Bid Item 67, "HMA CI. ½" PG 58H-22" shall be paid at the existing Contract unit price of \$100.00 per TON.
- Bid Item 143, "Temporary Pavement Marking Short Duration" shall be paid at the existing Contract unit price of \$0.25 per LF.
- Bid Item 147, "Flaggers" shall be paid at the existing Contract unit price in the amount of \$65.00 per HR.
- Bid Item 165, "Adjust Catch Basin" shall be paid at the existing Contract unit price in the amount of \$650.00 per EA.
- Bid Item 216, "HMA CI. ½" PG 58H-22 Full Overlay" shall be paid at the new unit Contract price of \$148.00 per TON. The base cost established for the asphalt cost price adjustment applied to this new item will be the reference cost posted on the WSDOT website for March 2nd, 2022.
- Bid Item #217, "HMA CI. ½" PG 58H-22 for Excavations" shall be paid at the new unit Contract price of \$148.00 per TON. The base cost established for the asphalt cost price adjustment applied to this new item will be the reference cost posted on the WSDOT website for March 2nd, 2022.
- Bid Item #218, "Planing Bituminous Pavement" shall be paid at the new Contract unit price of \$7.00 per SY.
- Bid Item #219, "Mobilization Full Overlay", shall be paid at the mutually agreed lump sum price of \$1000.00.
- Bid Item #220, "Adjust Valve Box to Finish Grade Overlay", shall be paid at the new unit Contract price of \$400.00 EA and shall include all temporary and permanent water valve adjustments needed for the planing and overlay Work.



CHANGE ORDER

CHANGE ORDER NUMBER
3
4/18/2022
Page 3 of 10

Sales Tax shall be applied to Group 3 (10.4%).

Contract Time

Sixteen (16) Working Days shall be added to the Contract time for Physical Completion for the additional Work.

SNOHOMISH COUNTY DEPARTMENT OF PUBLIC WORKS

CHANGE ORDER ESTIMATE

CHANGE ORDER NUMBER
3
4/18/2022

Page 1 of 1

PROJECT NAME: North Creek Trail Phase 1 - SR524 to Sprague Drive

NUMBER:

RC1776, RR6318, RR6323, RR6319, RC1798

PROJECT ENGINEER:

Todd Nielsen

FED AID NUMBER:

PROJECT

CM-STPUL-2031(112)

ITEM NO.	GROUP NO.	DESCRIPTION	UNIT MEAS.	UNIT PRICE	EST. QUANTITY	ES	ST. CHANGE
67	1	HMA Cl. 1/2 IN. PG 58H-22	TON	\$ 100.00	(470.00)	\$	(47,000.00)
		Group 1 total:				\$	(47,000.00)
23	3	ADJUST AWWD MANHOLE	EA	\$ 750.00	21.00	\$	15,750.00
34	3	ADJUST VALVE BOX TO FINISHED GRADE	EA	\$ 225.00	(4.00)	\$	(900.00)
65	3	CRUSHED SURFACING TOP COURSE	TON	\$ 40.00	20.00	\$	800.00
143	3	TEMPORARY PAVEMENT MARKING-SHORT DURATION	LF	\$ 0.25	1730.00	\$	432.50
147	3	FLAGGERS	HR	\$ 65.00	105.00	\$	6,825.00
216	3	HMA CL. 1/2 IN. PG 58H-22 - FULL OVERLAY	TON	\$ 148.00	406.00	\$	60,088.00
218	3	PLANING BITUMINOUS PAVEMENT	SY	\$ 7.00	2978.00	\$	20,846.00
220	3	ADJUST VALVE BOX TO FINISH GRADE - OVERLAY	EA	\$ 400.00	49.00	\$	19,600.00
		Group 3 (AWWD) Subtotal:				\$	123,441.50
		Sales Tax of 10.40%				\$	12,837.92
		Group 3 (AWWD) Total:				\$	136,279.42
9	6	ROADWAY EXCAVATION INCL. HAUL	CY	\$ 40.00	384.00	\$	15,360.00
64	6	CRUSHED SURFACING BASE COURSE	TON	\$ 32.00	474.00	\$	15,168.00
65	6	CRUSHED SURFACING TOP COURSE	TON	\$ 40.00	124.00	\$	4,960.00
143	6	TEMPORARY PAVEMENT MARKING-SHORT DURATION	LF	\$ 0.25	7930.00	\$	1,982.50
147	6	FLAGGERS	HR	\$ 65.00	407.00	\$	26,455.00
165	6	ADJUST CATCH BASIN	EA	\$ 650.00	3.00	\$	1,950.00
216	6	HMA CL. 1/2 IN. PG 58H-22 - FULL OVERLAY	TON	\$ 148.00	1564.00	\$	231,472.00
217	6	HMA CL. 1/2 IN. PG 58H-22 FOR EXCAVATIONS	TON	\$ 148.00	172.00	\$	25,456.00
218	6	PLANING BITUMINOUS PAVEMENT	SY	\$ 7.00	11892.00	\$	83,244.00
219	6	MOBILIZATION - FULL OVERLAY	LS	\$ 1,000.00	1.00	\$	1,000.00
		Group 6 (County Overlay) Total:				\$	407,047.50
			TOTAL			40/	













